Quiz VI General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/25 T 830 am Form A quiz #

Name t % Name
&

(print name) (sign name) (I can’t read some of your handwriting.)

Please show all work for full credit. If you show work you may also get partial credit.
(1 atm = 760 torr=760 mm Hg) (Kelvin = °C + 273. 15) [PV=nRT, R=0.08206 (L atm)/(mol K)]-
[(P1VY(P2V2) = (TYT2)]

1. Oxidation (being oxidized) means that the reactant@r (gains)] (circle one) electrons so that

the reactant oxidation state becomes more [(negative) or @cimle one) and is acting as the

[(oxidizing agent) or &educing agent)i}oircle one) (1 pt each, 3 pts)

2. Give the oxidation state for the following. Show work. (3 pts each, 6 pts)
a. Nain NaCl T j b. NainNa _2-€+0
/\ \ﬁ ’ elepork i n mist Slebleslof
Y7 T ) has zero Ok sl
3. Convert 1.1 atmosphere to torr. (4 pts)

Ma}»\ MW-_— € o
X P Yol Eor

4 A gas exerts a pressure of 1.1 atmospheres at 278.2 Kelvin in 2 tank with a piston of volume 3.23
Liters. If the same gas tank is pressurized to 2.3 atmospheres by moving the piston at the same temperature
what is the new volume ? [(P1VDAP, V) = (T/T2)] (7 pts) f U
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Fi: /I(WV\ (T)LJZ,}a}z,,\ —~— = ‘1—-—%’
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e reaction with 1.2 Toles of H, what is the
iters ? (1 mole gas = 22.4 Liters) (3 pts) o
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2TiCli () + Hy(g) > 27TiCls (s) + 2 HCl (g) .
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Quiz VI General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/25 T 8:30 am Form B quiz #

Name t [ Name

(print name) /4 (sign name) (I can’t read some of your handwriting.)

Please show ail work for full credit. If you show work you may also get partial credit.
(1 atm =760 torr=760 mm Hg) (Kelvin =°C + 273.15) [PV=nRT, R=0.08206 (1. atm)/mol K}]
[(P1VIAP2V2) = (TV/T,)]

1. Reduction (being reduced) means that the reactant [(loses) or (circle one) electrons so that

the reactant oxidation state becomes more or (positive)](circle one) and is acting as the

[t or (reducing agent)}(circle one) (1 pt each, 3 pts)

2. Give the oxidation state for the following. Show work. (3 pts each, 6 pts)

a. NinN, _Z&A b.  NinNOy “(‘,j ,
ot 5l N+ 3(0) = — (charge oF gobetm )
orm | et N= t6=+>

3. Convert 750.2 torr to atmosphere. (4 pts)

1502 (:o\rv‘,g-—@@ = 0,99 atn
160 Lovr Ceov vt 9}“% fﬁ 3/)

4 A balloon is measured to occupy 1.2 Liters at 1.01 atmospheres at 298.14 Kelvin.
moved into a room at 313.5 Kelvin and 1.31 atmospheres, what is the new volume of the balloon.

[(P\l/Vt)/’('Pzrj)i(iaTZ)] (7 Pts)vl p ,)I Cl’%! M Vp - %/ }ijt

-
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Extra (Ered!it: If you d(ﬁ the following reaction, if you start the reaction with 2.5 moles of NaN; what is
the theoretical yield of the N, (g) in liters ? (1 mole gas = 22.4 Liters) (3 pts)

2N3N3(S)? 2Na (s)+ 3N, (g) ) ; 7
2 ok T 25wl DotV 2042 94y
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Quiz VI General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/25 T 9:55 am Form A quiz #

Name k AN Name
(print name)’ 4 (sign name) (I can’t read some of your handwriting.)

Please show all work for full credit. If you show work you may also get partial credit.
(1 atm = 760 torr=760 mm Hg) (Kelvin = °C + 273, 15) [PV=nRT, R = 0.08206 (L atm)/(mol K)j
[(P1V1)A(P2V2) = (T\/Ty)]

L. In the reaction shown which atom is undergoing oxidation or reduction given the oxidation states
shown 7 (1.5 pts each, 3 pts)

minus 1 ellectron per Hydrogen or (reduction))(circle one)

2TiCly (g) + Hz(g) > 2 TiCl (s) + 2 HCI (g)
¥ g5 M~

) A
+4 ZeT0 +3 +1

| l . .
plus 1 electrdn per titanium [{oxidation) ocircle one)
2. Give the oxidation state for the following. Show work. (3 pts each, 6 pts)

a Sins0y?_<+4 b.  CainCacl, -t~ |
S+4(1) - -1 Ca vy TA —2
3 2 _) 46> 14
3. Cofivert 23.3 °C to Kelvin. (4 pts)

J = ¢ 420515 = 233°Ct 205 29645k

4 A sample of gas at 303.2 Kelvin and 2.52 Liters has a pressure of 1.1 atmospheres. How many
moles of the gas do you have ? (PV=nRT) (7 pts) 53 (/ = n r(’ 7‘

T= %032k

U= 2,529 () oty (2,522 = N (008208

P = [ ok 2 (g o) 2528

Extra Credit: If you do the following reaction, if you start the reaJéﬁB‘r’l‘m 3.2 moles of
theoretical yield of the H,O(g) in liters 9 (1 mole gas = 22.4 Liters) (3 pts)

Zn(s)+ 2 HCl (aq) > ZnCl(ag) + H,0 (g)
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Quiz VI General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/25 T 9:55 am FormB {uiz #

Name k 9/‘7 Name

(print name) & (sign name) (I can’t read some of your handwriting )

Please show all work for full credit. If you show work you may also get partial credit.
(1 atm = 760 torr=760 mm Hg) (Kelvin = °C + 273.15) [PV=nRT, R=0.08206 (L atm)/(mol K)]
[(P1VIAP2V3) = (T/Ty)]

1, In the reaction shown which atom is undergoing oxidation or reduction given the oxidation states
shown ? (1.5 pts each, 3 pts)

Minus 2 echtron / Oxygen [r (reduction)](circle one)

{ ]
2HgO(s) - 2Hg () + O, (g)
PR i "
+2 2 Zero zéro

| |
Plus 2 electrbns /mercury [(oxidation) or ‘ (circle one)

2. Give the oxidation state for the following. Show work. (3 pts each, 6 pts)
a. Clin CaCl, ""‘ b. ClinCl, é erv

_ 11 P T o OF o/ A
R g oo (rE el o Feloyd

3. Convert 310.1 Kelvin to °C. (4 pts)

k= °Ct2M5 — k- 275> °C
7101 & = 29505 = 36,959,

4 111_IOW n(lgny Lit%s does a 2.33 mole sample of gas occupy at 298.14 Kelvin, and pressure of 0.987
atmosphere? (PV=nRT) (7 pts)

Nz 2,35 el CO, q¥ M) [/ = ( 2,52 hvfa(o’oywa(z?&’/ﬂj
T=2ek )= Q43 0.05206125 (3 41/,

F= O 98 atm APIok)

¢
Extra Credit: ' If you do the following reaction, if you Start thg reaction with 7.8 moles of NH;NO; what
is the theoretical yield of the O,(g) in liters? (1 mole gas = 22.4 Liters) (3 pts)

2§IJ§N03 égi 2 2Na(g) + 41,0 (g) + ?z(g) 7\1
3 m 2 2 . .
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Quiz VI General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/25 T 8:30 am Form A quiz # l-né“

Name Name ‘
(print name) (sign name) (I can’t read some of your handwriting.)

Please show all work for full credit. If you show work you may also get partial credit.

(1 atm = 760 torr=~760 mm Hg) (Kelvin = °C + 273. 15) [PV=nRT, R=0.08206 (L atm)/(mol K)]
[(P1V)(P2V2) = (T/T)]

1. Oxidation (being oxidized) means that the reactant [(loses) or (gains)] (circle one) electrons so that
the reactant oxidation state becomes more [(negative) or (positive)](circle one) and is acting as the

[(oxidizing agent) or (reducing agent)](circle one) (1 pt each, 3 pis)

2. Give the oxidation state for the following. Show work. (3 pts each, 6 pts)

a. Nain NaCl b. Nain Na
3. Convert 1.1 atmosphere to torr. (4 pts)
4 A gas exerts a pressure of 1.1 atmospheres at 278.2 Kelvin in a tank with a piston of volume 3.23

Liters. If the same gas tank is pressurized to 2.3 atmospheres by moving the piston at the same temperature,
what is the new volume ? [(P{V (P, V,) = (TV/T2)] (7 pts)

Extra Credit: If you do the following reaction, if you start the reaction with 1.2 moles of H, what is the
theoretical yield of the HCI (g) in liters 7 (I mole gas = 22.4 Liters) (3 pts)

2 TiCl (g) + Ha(g) > 2 TiCl (s) + 2 HCl (g)
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Quiz VI General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/25 T 8:30 am Form B quiz #

Name : Name

(print name) (sign name) (I can’t read some of your handwriting.)
Please show all work for full credit. If you show work you may also get partial credit.

(1 atm = 760 torr=760 mm Hg) (Kelvin = °C + 273.15) [PV=nRT, R=0.08206 (L atm)/(mol K)]
[(P1VAP2V2) = (T\/Ty)]

i Reduction (being reduced) means that the reactant [(loses) or (gains)] (circle one) electrons so that

the reactant oxidation state becomes more [(negative) or (positive)](circle one) and is acting as the .

[(oxidizing agent) or (reducing agent)](circle one) (1 pt each, 3 pts)

2. Give the oxidation state for the following. Show work. (3 pts each, 6 pts)

a. NinN; : b. N in NOy”
3. Convert 750.2 torr to atmosphere. (4 pts)
4 A balloon is measured to occupy 1.2 Liters at 1.01 atmospheres at 298,14 Kelvin. The balloon is

moved into a room at 313.5 Kelvin and 1.31 atmospheres, what is the new volume of the balloon.
[(PyVI(P2V2) =(TW/T2)] (7 pts)

Extra Credit: If you do the following reaction, if you start the reaction with 2.5 moles of NaN; what is
the theoretical yield of the N;(g)  in liters ? (1 mole gas = 22.4 Liters) (3 pts)

2 NaN3(s) > 2Na (s)+ 3 N, (g)



Quiz VI General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/25 T 9:55 am Form A quiz# % '“!?

-

Name Name .
(print name) (sign name) (I can’t read some of your handwriting.)

Please show all work for full credit. If you show work you may also get partial credit.
(1 atm = 760 torr=760 mm Hg) (Kelvin = °C + 273, 15) [PV=nRT, R = 0.08206 (L atm)/(mol K)]
[(PIVD)AP2V2) = (T\/T3)]

L In the reaction shown which atom is undergoing oxidation or reduction given the oxidation states
shown ? (1.5 pts each, 3 pts)

minus 1 electron per Hydrogen [(oxidation) or (reduction}](circle one)

2TiCly (g) + Hy(g) > 2 TiCls (s) + 2 HCI (g)
. e ™ IS

H i i

+4 Zero +3 +1

plus 1 electrdn per titanium [(oxidation) or (reduction)](circle one)

2. Give the oxidation state for the following. Show work. (3 pts each, 6 pts)

a. §inS0;* b. Ca in CaCl,

3. Convert 23.3 °C to Kelvin. (4 pts)

4 A sample of gas at 303.2 Kelvin and 2.52 Liters has a pressure of 1.1 atmospheres. How many
moles of the gas do you have ? (PV=nRT) (7 pts)

Extra Credit: If you do the following reaction, if you start the reaction with 3.2 moles of HCl what is the
theoretical yield of the H,O(g) in liters ? (1 mole gas = 22.4 Liters) (3 pts)

Zn(s) + 2HCl (aq) - ZnCl,(aq) + H;0 (g)
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Quiz VI General Chemistry I Lecture Spring 14 Dr. Hahn 20 pgs 3/25 T 9:55 am Form B quiz#

Name Name
(print name) (sign name) (I can’t read some of your handwriting.)

Please show all work for full credit, If you show work you may also get partial credit.
(1 atm = 760 torr=760 mm Hg) (Kelvin = °C + 273.15) [PV=nRT, R=0.08206 (L. atm)/(mol K)]
RVDAP:V2) = (Tu/T2)] '

1. In the reaction shown which atom is undergoing oxidation or reduction given the oxidation states
shown ? (1.5 pts each, 3 pts)

Minus 2 electron / Oxygen {(oxidation) or {reduction)](circle one)

{
2 HgO (s) > 2Hg () + %(g)
+2? 2 zeﬁ:) zero
| I

Plus 2 electrons /mercury [(oxidation) or (reduction) ] (circle one)

2. Give the oxidation state for the following. Show work. (3 pts each, 6 pts)

a. Clin CaCl; b. Clin Cly

3. Convert 310.1 Kelvin to °C. (4 pts)

4 How many Liters does a 2.33 mole sample of gas occupy at 298.14 Kelvin, and pressure of 0.987
atmosphere? (PV=nRT) (7 pts)

Extra Credit: If you do the following reaction, if you start the reaction with 7.8 moles of NH,NO; what
is the theoretical yield of the O:(g) in liters? (1 mole gas = 22.4 Liters) (3 pts)

2 NH4NO;3(g) - 2N2(g) + 4H20 (g) + O2(g)



